pH AND pOH CONTINUED

Calculate the pH of the solutions below.
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pH - pOH Reviewé acid

1. Change to [OH-] conc and tell if it’s an acid or a base. d@{ OH } = |
a) [H+]= 1.0x102M [PH =1 ¥ (O”2M Qdd
b) © 1.0x10°M ©HI)= 1 X (DO M\ Rast
gy # 3.6x 108M (DH)= 23810 N\ Rase
4« 9.4x10‘3M[OH3” | bor(o*m Acd
&« 14x10M )= T k0-4M Acd

2. Change to [H+] conc and tell if it’s an acid or a base.
a) [OH-]=1.0x10°M @,01) = I ¥io B Base
b) © 1.0x 10°M (Hs07) = I1x(0m Qedd
¢y « 1.8 % 107 M [Hs0") = 5, <105 gt s €
d) © 89x10°M (Mab¥) 2 [, 1 ¥10"m Qead

3. Convert to pH and tell if it’s an acid or a base.
a) [H+] =1.0x10"M pH=F newho

b) © L0x10°M  pid=q bese
) © 43x10*°M =34 acd
d) © 53x10°M PH‘: 2.2 base

4, Convert to conc of [H+] and tell if it’s an acid or a bgsz(_
a) pH=24 ([z0r)"0.00398 M ocid
b) 89 (R3097 |x(O9M  bask
c) 36 (H0)F 250 M aod
d) « 11.2 _Hg,D‘j"' (b3 XM pKaot

5. Convert to pOH and tell if it’s an acid or a base.
a) pH=24 pOH = Il aete
b) cc 8-9 Pw = 5' | bmﬂ
gy “ 3.6 o L€
d) * 112 bOH” 2%  poast

6. Convert to pOH and tell if it’s an acid or a base |
2 [OH]=  10x10*M pPOH=4q Dot

b) % 1.0x 108 M pou=3 WC*-d_ ,
S 43x10°M L OH=4.3% baot
d) « 53x10°M ©OOH = . e
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pH Calculations

i ”‘"‘“&&%
Equation for molarity: f%%” o L Name Hr
Calculation for pH 4 S Calculation for [H307] oH
+7- o h, Vi . et
from [H30"]. D H = gggg% g 1 from pH: ii fﬁ Fle 10

1. Whatis a neutrai pH? ¥ acidic pH range? O ”’“f&% alkaline (basic) pH range?ﬂ:g&i -4

[ IR S
2. Wirite out the equation for the dissociation of Water2% Jmi =l Y v OH K=

[0 M

e

3. What is the concentration of hydronium ions (in M) in a solution of pH 77 ¥ 1D ”?g"‘%’%

4. Are there any hydronium ions in a solution of pH 10? WAL

If so, what is the concentration of hydronium ions at pH 10? wjfffwﬁ

8. What is the pH of a 1.34 x 10 M solution of hydrochloric acid. o H = (e

9. Whatis the pH of a 7.98 x 10 M solution of HNOs (nitric acnd) o= it 79

10.What is the pH of 12 L of a solutlon contaming 1 mole of hydrochlorlc acid. 1 O 7

Mo ng T O3 nH F =i, o 0. G
11. What is the pH of 735 L of a solut|on contalnmg 0. 34 moles of nitric acid. .2, 2 %
; Y is 5 )-% 9‘}‘«#{2&

IR G bR/ pHtleg e
12. Whatis the pHof 2.3 L of a solutlon containing 4 .5 grams of nttnc acid. LS L
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13. Wha |s the pH of 792 mL of a solutlon contaml 5g 0.344 grams of hydrochloric acid, (."7 2.

BEE S 1% el O EMMg L0 ””3@' L Sty 0,014
Find the hydromum fon concentration [I—fsﬁfﬁom fhe pH of the fL‘ Howmg solutions:
- eemw B

1. pH=7.0,[H:0=_} =/77 6. pH=7.9,[H:0Y = {2502
2. pH=4, [H;0*] = [ 7. pH=4.91, [H:0"] = ! WAV T
3. pH=3, [H:0=_1 ¥i{y"* 8. pH=9.32, [H;0Y = 5 FTx/n~h
4. pH=2.23, [H:0 = 5, ¥~ 9. pH= 1223, [H:0= 5. ¥F oy 7
5. pH=6.26, [Hs0]=_5, “T#ilw® 10.pH =7.26, [Hs0%] = 3.5 x/[v¥




